
Factoring, Completing the Square, & Quadratic 
Formula



Solve By Factoring

𝟏) 𝟏𝟒𝒙𝟑 = 𝟑𝟐𝒙𝟐 − 𝟖𝒙

1.4 seconds



Solve By Completing The Square

𝟐) 𝟒𝒙𝟐 − 𝟐𝟎𝒙 = 𝟓



Solve By Quadratic Formula

𝟑) 𝒇 𝒙 = 𝟖𝒙𝟐 − 𝟏𝟔𝒙 − 𝟒𝟎

𝟒𝟎𝒙𝟐 + 𝟏𝟏𝒙 − 𝟐 = 𝟎



Solve By Factoring

4) 𝟔𝒙𝟐 − 𝟔𝟎𝟎 = 𝟎

𝒙 =
𝟓 ± 𝟑𝟎

𝟐



Solve By Completing the Square

5) − 𝟖𝒙𝟐 − 𝟖𝒙 − 𝟓𝟔 = 𝟎

𝒙 = 𝟏 ± 𝟔



Solve By Quadratic Formula

𝟔) 𝟐𝟒𝒙 − 𝟗 = 𝟏𝟔𝒙𝟐

𝒙 =
−𝟓

𝟐
& 

𝟑

𝟐



Write an equation given the 
following roots:

7)

𝒙 = 𝟏𝒎𝒖𝒍𝒕. 𝒐𝒇 𝟐,−𝟏𝒎𝒖𝒍𝒕. 𝒐𝒇 𝟐



Write an equation given the 
following roots:

𝟖) 𝒙 =
−𝟐

𝟓
&

𝟏

𝟖

𝒙 =
−𝟑 ± 𝟏𝟑

𝟐



Solve the following:

9)  A baseball player wants to see how 
fast he can throw a ball to his friend.  
The height (h) of the ball in feet is 
modeled by the function h(t) = -16t2+ 
19t + 5 where t is the time in seconds 
the ball is in the air.  Determine how 
long this baseball lasted in the air 
until it reaches his friends glove.  
(Assume his friend is at a height of 0.)

𝒙𝟒 − 𝟏𝟎𝒙𝟑 + 𝟐𝟓𝒙𝟐 = 𝟎



Solve Using the Method of Your 
Choice:

𝟏𝟎) 𝟒𝒙𝟐 + 𝟒𝒙 − 𝟏𝟓 = 𝟎

𝒙 = 𝟎,
𝟐

𝟕
, 𝟐



𝟏𝟏) 𝟓𝒙𝟒 − 𝟏𝟎𝒙𝟐 + 𝟓 = 𝟎

Solve Using the Method of Your 
Choice:

𝒙 =
−𝟏 ± 𝟑𝒊 𝟑

𝟐



𝟏𝟐) 𝟐𝒙𝟐 + 𝟔𝒙 − 𝟐 = 𝟎

Solve Using the Method of Your 
Choice:

𝟑 𝒇𝒕 𝒙 𝟗 𝒇𝒕



13) The length of a rectangular garden 
is 6 more than the width. The area of 
the garden is 27 feet squared. Find the 
dimensions of the garden. 

𝒙 = ±𝟏𝟎


